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K An open box is made from a square piece of cardboard 30 inches on a side by cutting identical \
squares from the comers and tuming up the sides.
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a. Express the volume of the box, V, as a function of the length of the side of the square cut
from each corner, x.

V=0-w-h = V0= (30-2900-2)%) o V6= X (30-2%)

b. Use technology to graph the function you made. Sketch it below. Label your axis correctly.
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¢. On your graph that you made above, label the maximum and intercepts. Explain what they (0.0}
mean in context of the problem

X-indercephs -5 ot x=0 and X=I5 ke Box T R
wovld here vow volome. pt (9,:.@) > fut men

d. State the Domain and Range of the function as it relates to the context of the problem.
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f A rain gutter is made from sheets of aluminum that are 20 inches wide by turning up the

edges to form right angles.

20 inches zo «2X

a. Express the cross-sectional area of the gutter, A, as a function of its depth, x.

A ()= x(20-2x)
b. Use technology to graph the function you made. Sketch it below. Label your axis correctly.

A (s,5%)
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¢. On your graph that you made above, label the maximum and intercepts. Explain what they
mean in context of the problem

X-inkecceph 3 gk x =0 and x<10, B Crags-sehon
Wes 1o ared . 4 (S,S9) Hidwaens when x i §

d. State the Domain and Range of the function as it relates to the context of the problem. 6 « .

\Donin (0,19) Range (0,50}
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Anew runring rack s o be constructed in th mwrthsem cles at each TTr +"r+2x - zwr +2x

?éd%ﬁgis the shaded area of the region enclosed by the track, A, as a function of its "| q O = 2“ r kz x
A(H)= -Tre* 44uov X=
b. Use technology to graph the function you made. Sketch it below. Label your axis correctly.
(F0.02%, ISHole. 113 Aren of sheled Fegfan...
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c. On yourgaphhayoumadenbov label the maximum and intercepts. Explain what they
mean in context of

Max wecns ulm = 70.028 ya-ds e max

Grec..' (SHok 9%y bccus. AlO=Tc> 4 (2)(220-Tic )
e,co,lqo.wb)k (0, 15406, 141) P Ale)= -TIr ¢yuypr I
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In the digram above, P(x,y) is any point that is on the graph of y = vVx
(2,0) is a fixed point not on the graph.

Let P(x,y) be a point on the graph of V= Vx Express the distance, d, from point P to (2,0)
as a function of the point’s x - coordinate. (You'll need the distance formula.)

jhdﬁ“é&ﬁ‘&‘[}rm (2,0) Mleg)mpn 15 (.323 unlls
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